a(d cot(6))

a(6 @) (rad)
5

=
S
w

107

1 ...! L inn .91004‘1)_
: = g
[vd C
muRRREREEEEET EEREREREREREY & o5 o' o tORORCEREREREEE | AT EEREEERERERES. & o 2 a0 o (RRUREEEEERERE
0.95 '71 : ' . . 0.95 '71 : ' . ,
10 1 TPlpg)T (PCA t%obeamlinélf) 10 1 TPlpoT (PCA t%obeamliné[f)

—=— /dataZ/legianni/pareto-opurestar —IZ_U_bISTC -plo —TT__origmar_|]
—— DQM_TT__trainAll2_PU

—— DQM_TT__trainAll2pth_PU

—— DOM_TT __trainAll2ptl PU

3 [ O SO S
°e )
S =
° o
=t S
1072
PSS U ST M 11111 SO R SN U ! i
I r : ] I r : i
24 r 24 C
i e A N N RN A | e A 1 A
0.950'_1 ' 5 (:)2 5 0.950'_1 ' 5 = 5
1 1 TPlpT (PCA t%) beamlinéLP 1 1 TPlpT (PCA t%) beamlinéLp
-~ .
Q_ .
- :
D_ .
o :
5 :
10" 3
o10Bf : = :
I F ]
24 C
] e
0.95L H
107 1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


